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QUESTION 1

View the exhibit, which contains the output of a debug command, and then answer the question below. 

Which one of the following statements about this FortiGate is correct? 

A. It is currently in system conserve mode because of high CPU usage. 

B. It is currently in extreme conserve mode because of high memory usage. 

C. It is currently in proxy conserve mode because of high memory usage. 

D. It is currently in memory conserve mode because of high memory usage. 

Correct Answer: D 

 

QUESTION 2

Examine the output of the `diagnose ips anomaly list\\' command shown in the exhibit; then answer the question below. 

Which IP addresses are included in the output of this command? 

A. Those whose traffic matches a DoS policy. 
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B. Those whose traffic matches an IPS sensor. 

C. Those whose traffic exceeded a threshold of a matching DoS policy. 

D. Those whose traffic was detected as an anomaly by an IPS sensor. 

Correct Answer: A 

 

QUESTION 3

View these partial outputs from two routing debug commands: 

Which outbound interface will FortiGate use to route web traffic from internal users to the Internet? 

A. Both port1 and port2 

B. port3 

C. port1 

D. port2 

Correct Answer: C 

 

QUESTION 4

An LDAP user cannot authenticate against a FortiGate device. Examine the real time debug output shown in the exhibit
when the user attempted the authentication; then answer the question below. 
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Based on the output in the exhibit, what can cause this authentication problem? 

A. User student is not found in the LDAP server. 

B. User student is using a wrong password. 

C. The FortiGate has been configured with the wrong password for the LDAP administrator. 

D. The FortiGate has been configured with the wrong authentication schema. 

Correct Answer: A 

 

 

QUESTION 5

Refer to the exhibit, which contains a TCL script configuration on FortiManager. 

An administrator has configured the TCL script on FortiManager, but failed to apply any changes to the 
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managed device after being executed. 

Why did the TCL script fail to make any changes to the managed device? 

A. Changes in an interface configuration can only be done by CLI script. 

B. The TCL script must start with #include . 

C. Incomplete commands are ignored in TCL scripts. 

D. The TCL command run_cmd has not been created. 

Correct Answer: D 
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